# Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: March 4,2016 Invitation to Bid # 16-03-045

#### INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

### **2nd Publication**

| PR NO.        | PARTICULARS                           | APPROVED BUDGET COST | FUND SOURCE  |
|---------------|---------------------------------------|----------------------|--------------|
| 100-16-02-137 | Catering Services -<br>Meals & snacks | 162,125.00           | General Fund |

| STOCK NO. | UNIT | ITEM DESCRIPTION | QTY | UNIT<br>COST | TOTAL COST |
|-----------|------|------------------|-----|--------------|------------|
| 1         | pax  | Meals & sncak    |     |              | 162,125.00 |
|           |      |                  |     |              |            |
|           |      |                  |     |              |            |
|           |      | TOTAL            |     |              | 162,125.00 |

| Deadline of Submission Technical & Financial Documents | March 15, 2016 not later than 12:00 o'clock noon  |
|--|---|
| TURENING OF KINS                                       | March 15, 2016 at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality |

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding shall be issued only to bidders upon payment of a non-refundable bid fee of Php 500.00 only

All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, Evaluation of Bids, Post-Qualifications of the Lowest Calculated and Responsive Bid, and Bid Security shall be governed by the provision of existing laws, rules and regulations.

MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the bidding process and reject all Bids anytime prior to the award of contract without thereby incurring any liability to the affected Bidders or any obligation to inform the affected Bidder or Bidders of the ground for MBED's action and accept such bid as may be considered advantageous to MBED.

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE

BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson

# Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: March 4,2016

Invitation to Bid # 16-03-046

### **INVITATION TO APPLY FOR ELIGIBILITY AND TO BID**

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

| PR NO.        | PARTICULARS               | APPROVED BUDGET COST | FUND SOURCE  |
|---------------|---------------------------|----------------------|--------------|
| 100-16-01-119 | Other Supplies (1st qtr.) | 87,394.00            | General Fund |

| STOCK NO. | UNIT  | ITEM DESCRIPTION                 | QTY | UNIT<br>COST | TOTAL COST |
|-----------|-------|----------------------------------|-----|--------------|------------|
| 1         | unit  | Ball for volleyball              | 2   | 3,310.00     | 6,620.00   |
| 2         | pack  | Chlorine powder-l kl/pack        | 1   | 100.00       | 100.00     |
| 3         | dozen | cup and saucer                   | 2   | 650.00       | 1,300.00   |
| 4         | рс    | curtain                          | 4   | 400.00       | 1,600.00   |
| 5         | box   | Data file box                    | 6   | 140.00       | 840.00     |
| 6         | bar   | detergent bar                    | 4   | 22.00        | 88.00      |
| 7         | pack  | detergent powder                 | 25  | 60.00        | 1,500.00   |
| 8         | bag   | detergent powder 1 kl            | 3   | 150.00       | 450.00     |
| 9         | btl   | dishwashing liquid               | 17  | 60.00        | 1,020.00   |
| 10        | рс    | Dishwashing paste 500g           | 9   | 50.00        | 450.00     |
| 11        | рс    | Dishwashing sponge w/ scotch     | 6   | 40.00        | 240.00     |
| 12        | рс    | Dosposable Doormat (cloth)       | 30  | 70.00        | 2,100.00   |
| 13        | рс    | Doorknob                         | 1   | 700.00       | 700.00     |
| 14        | dozen | Fork small                       | 2   | 60.00        | 120.00     |
| 15        | рс    | Germicidal soap                  | 3   | 30.00        | 90.00      |
| 16        | btl   | Glass cleaner                    | 14  | 100.00       | 1,400.00   |
| 17        | рс    | Hand gloves, cloth, good quality | 6   | 70.00        | 420.00     |

| 18 | рс    | Hand gloves, long, rubberized, heavy duty       | 4   | 210.00 | 840.00    |
|----|-------|---|-----|--------|-----------|
| 19 | рс    | Knife, Chef stainless, big                      | 4   | 200.00 | 800.00    |
| 20 | рс    | Medals  | 244 | 26.50  | 6,466.00  |
| 21 | рс    | Monoblock chair                                 | 32  | 800.00 | 25,600.00 |
| 22 | рс    | Mophandle with miphead                          | 3   | 150.00 | 450.00    |
| 23 | dozen | Rag for office/kitchen table                    | 1   | 300.00 | 300.00    |
| 24 | pair  | Rubber boots # 9, Heavy duty, black             | 2   | 400.00 | 800.00    |
| 25 | рс    | Sack, 50kgs. Capacity                           | 10  | 15.00  | 150.00    |
| 26 | рс    | Softbroom                                       | 27  | 150.00 | 4,050.00  |
| 27 | рс    | Steel wall                                      | 10  | 30.00  | 300.00    |
| 28 | рс    | Storage box, big                                | 6   | 990.00 | 5,940.00  |
| 29 | dozen | Teaspoon  | 2   | 60.00  | 120.00    |
| 30 | рс    | Toilet bowl brush w/ handle                     | 5   | 60.00  | 300.00    |
| 31 | btl   | Toilet bowl cleaner                             | 20  | 260.00 | 5,200.00  |
| 32 | pack  | Toilet Tissue 12 roll/pack                      | 31  | 100.00 | 3,100.00  |
| 33 | рс    | Trophy  | 5   | 510.00 | 2,550.00  |
| 34 | рс    | Waste basket plastic                            | 3   | 35.00  | 105.00    |
| 35 | btl   | WD 40, 320 ml                                   | 5   | 750.00 | 3,750.00  |
| 36 | pack  | wipes   | 1   | 50.00  | 50.00     |
| 37 | gal   | Zonrox bleach                                   | 5   | 300.00 | 1,500.00  |
| 38 | box   | Fastener plastic                                | 4   | 55.00  | 220.00    |
| 39 | рс    | Air Freshener do it your self gel type          | 5   | 100.00 | 500.00    |
| 40 | рс    | Curtain ROD-Round                               | 1   | 540.00 | 540.00    |
| 41 | рс    | Rug   | 2   | 100.00 | 200.00    |
| 42 | mtr.  | textile   | 20  | 200.00 | 4,000.00  |
| 43 | рс    | Illistration board double face (30 x 40 ) 2 ply | 15  | 35.00  | 525.00    |
|    |       | TOTAL   |     |        | 87,394.00 |

| Deaumie of Submission Technical & | March 15, 2016 not later than 12:00 o'clock noon  |
|-----------------------------------|---|
| Financial Documents               | Plaich 13, 2010 Hot later than 12.00 o clock hoon   |
| IOnening of Rigs                  | March 15, 2016 at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality |

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson

# Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: March 4,2016

Invitation to Bid # 16-03-047

### **INVITATION TO APPLY FOR ELIGIBILITY AND TO BID**

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

| PR NO.        | PARTICULARS                | APPROVED BUDGET COST | FUND SOURCE  |
|---------------|----------------------------|----------------------|--------------|
| 100-16-01-117 | Office Supplies (1st qtr.) | 115,537.00           | General Fund |

| STOCK NO. | UNIT | ITEM DESCRIPTION                           | QTY | UNIT<br>COST | TOTAL COST |
|-----------|------|--|-----|--------------|------------|
| 1         | ream | A3 Paper                                   | 1   | 750.00       | 750.00     |
| 2         | box  | Acetate A4                                 | 2   | 450.00       | 900.00     |
| 3         | box  | Acetate Legal                              | 2   | 371.00       | 742.00     |
| 4         | btl  | Alcohol 70% Isoprophyl, 250ml              | 5   | 20.00        | 100.00     |
| 5         | рс   | Ballpen green                              | 8   | 10.00        | 80.00      |
| 6         | рс   | Ballpen red                                | 17  | 5.00         | 85.00      |
| 7         | рс   | Ballpoint pen black                        | 358 | 10.00        | 3,580.00   |
| 8         | pcs  | Ballpoint pen blue                         | 119 | 10.00        | 1,190.00   |
| 9         | box  | Binder clip 1 17mm (1 1/4"), 12's          | 3   | 30.00        | 90.00      |
| 10        | pack | Carbon Film                                | 3   | 157.00       | 471.00     |
| 11        | box  | Carbon paper A4 Black                      | 1   | 150.00       | 150.00     |
| 12        | box  | Carbon Pper blue                           | 1   | 450.00       | 450.00     |
| 13        | рс   | cartolina (yellow green2, green 2, pink 2, | 10  | 10.00        | 100.00     |
| 14        | рс   | CD Rewritable                              | 20  | 20.00        | 400.00     |
| 15        | pcs  | Certificate case 10.75" x 8.50"            | 3   | 50.00        | 150.00     |
| 16        | book | Check Registrer Book                       | 4   | 517.50       | 2,070.00   |
| 17        | рс   | Clear Book (Plastic) w/ refill pockets     | 1   | 150.00       | 150.00     |
| 18        | box  | Clip Backfold, 19mm (3/4"), 12's           | 2   | 15.00        | 30.00      |
| 19        | box  | Clip Backfold, 32mm (1'), 12's             | 2   | 25.00        | 50.00      |
| 20        | рс   | Clip Bulldog (3")                          | 5   | 10.00        | 50.00      |
| 21        | pack | Colored Vellum Board (Blue) (8.5x13)       | 20  | 65.00        | 1,300.00   |
| 22        | pack | Construction Paper Assorted 20pcs/pack     | 5   | 30.00        | 150.00     |
| 23        | рс   | Correction Tape                            | 127 | 50.00        | 6,350.00   |
| 24        | рс   | Cutter                                     | 2   | 25.00        | 50.00      |
| 25        | box  | Data File box                              | 13  | 80.00        | 1,040.00   |

| 26       | рс               | Dater w/ Received self inking  | 1        | 273.00          | 273.00             |
|----------|------------------|--|----------|-----------------|--------------------|
| 27       | roll             | Double sided tape 50m/roll   | 5        | 40.00           | 200.00             |
| 28       | pack             | Envelop brown legal 100/pack   | 1        | 800.00          | 800.00             |
| 29       | рс               | Envelop legal (mailing envelop white)  | 50       | 1.00            | 50.00              |
| 30       | рс               | Eraser rubber soft   | 30       | 10.00           | 300.00             |
| 31       | рс               | Expanded envelop long brown  | 44       | 15.00           | 660.00             |
| 32       | рс               | Expanded folder long   | 105      | 7.00            | 735.00             |
| 33       | pc               | Expanded folder long, report cover, blue   | 50       | 20.00           | 1,000.00           |
| 34       | box              | facial tissue  | 3        | 100.00          | 300.00             |
| 35       | рс               | File organizer   | 3        | 200.00          | 600.00             |
| 36       | pc               | Filing Desk Tray w/ 3 division   | 2        | 300.00          | 600.00             |
| 37       | pack             | Folder Fancy Morocco, legal w/ plastic   | 2        | 400.00          | 800.00             |
| 38<br>39 | btl              | Hand sanitizer, 1000 ml  | 3        | 140.00          | 420.00             |
| 40       | pack<br>btl      | Index card ruled, (5"x8")127mmx203mm  Ink for pentel pen black                   | 1        | 200.00<br>80.00 | 200.00<br>80.00    |
| 40       | tube             | Lead for Mechanical Pencil .5mm,12pcs/tube                                       | 10       | 10.00           | 100.00             |
| 42       | pack             | Linen paper, legal size, 220gsm, non-glossy                                      | 11       | 10.00           | 1,100.00           |
| 43       | box              | Line paper, long 500's/box cream   | 1        | 800.00          | 800.00             |
| 44       | pack             | Linen paper, short size, 220gsm, non-glossy                                      | 5        | 40.00           | 200.00             |
| 45       | box              | Mailing envelop white short  | 1        | 100.00          | 100.00             |
| 46       | box              | Mailing envelop (brown) long   | 1        | 200.00          | 200.00             |
| 47       | pack             | Manila paper   | 1        | 100.00          | 100.00             |
| 48       | рс               | Marking pen permanent black broad  | 19       | 15.00           | 285.00             |
| 49       | рс               | Notebook, Composition, 50lvs.  | 16       | 10.00           | 160.00             |
| 50       | pad              | Notepad 2"x2" 400 sheets/pad   | 3        | 105.00          | 315.00             |
| 51       | ream             | Paper bond A3 size sub.20  | 1        | 250.00          | 250.00             |
| 52       | ream             | Paper bond A4 sub.20   | 193      | 120.00          | 23,160.00          |
| 53       | ream             | Paper bond letter  | 8        | 130.00          | 1,040.00           |
| 54       | ream             | Paper bond long sub. 20  | 218      | 140.00          | 30,520.00          |
| 55       | unit             | Paper cutter heavy duty  | 1        | 955.00          | 955.00             |
| 56       | pack             | Paper fastener non rust metal (big/long  | 2        | 90.00           | 180.00             |
| 57       | box              | Paper Fastener plastic   | 7        | 45.00           | 315.00             |
| 58       | ream             | Paper mimeo white wove A4 70 GSM   | 24       | 110.00          | 2,640.00           |
| 59       | ream             | Paper mimeo white wove legal 70 GSM  | 10       | 125.00          | 1,250.00           |
| 60       | pc               | Pencil w/ eraser   | 6        | 5.00            | 30.00              |
| 61       | pad              | Photo paper, glossy, A4  | 45       | 120.00          | 5,400.00           |
| 62       | box              | pins   | 2        | 30.00           | 60.00              |
| 63       | meter            | plastic cellophane cover   | 4        | 20.00           | 80.00              |
| 64       | pad              | Post-on-notes-2x3", asstd. Colors  | 3        | 30.00           | 90.00              |
| 65       | box              | Push pin   | 13       | 30.00           | 390.00             |
| 66<br>67 | ream<br>book     | PVC Cover legal size Record book 300pges   | <u>1</u> | 100.00<br>70.00 | 100.00<br>280.00   |
|          |                  | Ring binder 12mmx1.2cm (1/2" x 44)   |          | <u> </u>        |                    |
| 68<br>69 | bundle<br>bundle | Ring binder 12mmx1.2cm (1/2 × 44)  Ring binder 19mm x 1.12m (3/4" x 44")         | 14<br>10 | 60.00<br>115.00 | 840.00<br>1,150.00 |
| 70       | pc               | Ring binder 19mm x 1.12m (3/4 x 44 )  Ring binder 19mm x 1.12m plastic, assorted | 10       | 25.00           | 250.00             |
| 70       | bundle           | Ring binder 24mm x 1.12m plastic, assorted                                       | 5        | 125.00          | 625.00             |
| 72       | pc               | Ring binder 24mm x 1.12m (1 x44 / 10   | 2        | 35.00           | 70.00              |

| 73 | box   | Rubber band # 18, 445 gsm                  | 3  | 140.00   | 420.00     |
|----|-------|--|----|----------|------------|
| 74 | рс    | Ruler                                      | 2  | 15.00    | 30.00      |
| 75 | рс    | Ruler 12 inches                            | 14 | 20.00    | 280.00     |
| 76 | unit  | Scientific Calculator (FX-991MS) 12 digit  | 1  | 1,250.00 | 1,250.00   |
| 77 | pair  | Scissor 6"                                 | 6  | 20.00    | 120.00     |
| 78 | pack  | Special Paper A4 by 20pcs/pack             | 3  | 80.00    | 240.00     |
| 79 | btl   | Atamp pad ink big                          | 1  | 100.00   | 100.00     |
| 80 | рс    | Stamp w/ (MSWD Officer Name)               | 1  | 300.00   | 300.00     |
| 81 | рс    | Atamp " Received"                          | 1  | 120.00   | 120.00     |
| 82 | рс    | Stamping dater, automatic w/ ink pad 3.5cm | 3  | 550.00   | 1,650.00   |
| 83 | рс    | Stamping pad                               | 3  | 60.00    | 180.00     |
| 84 | box   | Staple wire # 35                           | 40 | 25.00    | 1,000.00   |
| 85 | рс    | Stapler with Staple remover heavy duty     | 18 | 150.00   | 2,700.00   |
| 86 | рс    | Stick glue large                           | 6  | 10.00    | 60.00      |
| 87 | рс    | Tape dispenser-heavy duty for 1" size tape | 4  | 100.00   | 400.00     |
| 88 | рс    | Tape masking, 1" width, 50m                | 12 | 60.00    | 720.00     |
| 89 | roll  | Tape Transparent (1') width 50m            | 22 | 25.00    | 550.00     |
| 90 | roll  | Tape Transparent (2') width 50m            | 17 | 40.00    | 680.00     |
| 91 | pack  | Toilet Tissue 12pcs/pack                   | 25 | 100.00   | 2,500.00   |
| 92 | рс    | Waste basket                               | 6  | 40.00    | 240.00     |
| 93 | sheet | White vellum board (200g/m2)               | 2  | 50.00    | 100.00     |
| 94 | рс    | Whiteboard eraser                          | 2  | 23.00    | 46.00      |
| 95 | рс    | Whiteboard marker black refillable broad   | 11 | 60.00    | 660.00     |
| 96 | pad   | Yellow pad                                 | 22 | 30.00    | 660.00     |
|    |       | TOTAL                                      |    |          | 115,537.00 |

| Deaumie of Submission Technical & | March 15, 2016 not later than 12:00 o'clock noon              |
|-----------------------------------|---|
| Emancial Documents                | March 15, 2016 at 2:00 o'clock in the afternoon at Conference |
| (C)nening of Rids                 | room, Mayor's office, this municipality                       |
| 1                                 | room, Mayor's office, this municipality                       |

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448

email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines
Province of Davao del Norte

## Municipality of Braulio E. Dujali -oOo-

Date: March 4,2016

Invitation to Bid # 16-03-048

#### INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

### **2nd Publication**

| PR NO.        | PARTICULARS | APPROVED BUDGET COST | FUND SOURCE |
|---------------|-------------|----------------------|-------------|
| 300-16-02-031 | Software    | 57,000.00            | Trust Fund  |

| STOCK NO. | UNIT | ITEM DESCRIPTION                              | QTY | UNIT<br>COST | TOTAL COST |
|-----------|------|---|-----|--------------|------------|
| 1         | unit | Intel Core i7 Processor (8M Cache, up to 4.00 | 1   | 45,000.00    | 45,000.00  |
|           |      | B85M-G LGA 1150 4th Gen MATX                  |     |              | -          |
|           |      | G196HQL 18.5-inch Glossy LED Monitor          |     |              | -          |
|           |      | 8GB DDR3 Memory                               |     |              | -          |
|           |      | 1TB HDD                                       |     |              | -          |
|           |      | USB Keyboard and Mouse                        |     |              | -          |
|           |      | Creative Speaker                              |     |              | -          |
|           |      | UPS   |     |              | -          |
|           |      | Casing w/ Power Supply                        |     |              | -          |
| 2         | unit | Printer - L210 Converted All in One           | 1   | 8,000.00     | 8,000.00   |
| 3         | unit | External 1TB WD New Model                     | 1   | 4,000.00     | 4,000.00   |
|           |      | TOTAL   |     |              | 57,000.00  |

| Financial Documents | March 15, 2016 not later than 12:00 o'clock noon              |
|---------------------|---|
| Opening of Rids     | March 15, 2016 at 2:00 o'clock in the afternoon at Conference |
| John Stranger       | room, Mayor's office, this municipality                       |

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the bidding

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448

RAFAEL L. ALCONES BAC Chairperson

# Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: March 4,2016

Invitation to Bid No. 16-02-049

### **INVITATION TO APPLY FOR ELIGIBILITY AND TO BID**

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

| PR NO.        | PARTICULARS | APPROVED BUDGET COST | FUND SOURCE  |
|---------------|-------------|----------------------|--------------|
| 100-16-01-118 | IT Supplies | 62,080.00            | General Fund |

| STOCK NO. | UNIT | ITEM DESCRIPTION                             | QTY | UNIT<br>COST | TOTAL COST |
|-----------|------|--|-----|--------------|------------|
| 1         | cart | Cartridge Black for Canon PIXMA E810         | 2   | 850.00       | 1,700.00   |
| 2         | рс   | Cartridge printer RN8750 for LX300           | 10  | 200.00       | 2,000.00   |
| 3         | рс   | Printer Ribbon Refill, RN 8750 for LX300 and | 37  | 30.00        | 1,110.00   |
| 4         | ink  | Refill Ink for Epson L110 Black              | 3   | 330.00       | 990.00     |
| 5         | рс   | Refill Ink for Epson L220 Black              | 67  | 330.00       | 22,110.00  |
| 6         | рс   | Refill Ink for Epson L220 Cyan               | 23  | 330.00       | 7,590.00   |
| 7         | рс   | Refill Ink for Epson L220 Magenta            | 23  | 330.00       | 7,590.00   |
| 8         | рс   | Refill Ink for Epson L220 Yellow             | 25  | 330.00       | 8,250.00   |
| 9         | рс   | Refill Ink for Epson L800 Black              | 2   | 330.00       | 660.00     |
| 10        | рс   | Refill Ink for Epson L800 Cyan               | 2   | 330.00       | 660.00     |
| 11        | рс   | Refill Ink for Epson L800 Light Cyan         | 5   | 330.00       | 1,650.00   |
| 12        | рс   | Refill Ink for Epson L800 Light Magenta      | 5   | 330.00       | 1,650.00   |
| 13        | рс   | Refill Ink for Epson L800 Magenta            | 2   | 330.00       | 660.00     |
| 14        | рс   | Refill Ink for Epson L800 Yellow             | 2   | 330.00       | 660.00     |
| 15        | Cart | Toner (Brother MFC-7420) TN 2025             | 1   | 3,500.00     | 3,500.00   |
| 16        | рс   | Universal Ink Black                          | 4   | 130.00       | 520.00     |
| 17        | рс   | Universal Ink Cyan                           | 2   | 130.00       | 260.00     |
| 18        | рс   | Universal Ink Magenta                        | 2   | 130.00       | 260.00     |
| 19        | рс   | Universal Ink Yellow                         | 2   | 130.00       | 260.00     |

|  | TOTAL | 62,080,00 |
|--|-------|-----------|
|  | IVIAL | 02,000.00 |

| Financial Documents | March 15, 2016 not later than 12:00 o'clock noon  |
|---------------------|---|
| Opening of Bids     | March 15, 2016 at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality |

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines
Province of Davao del Norte
Municipality of Braulio E. Dujali
-oOo-

Date: March 4,2016

Invitation to Bid No. 16-02-050

#### **INVITATION TO APPLY FOR ELIGIBILITY AND TO BID**

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

| PR NO.        | PARTICULARS    | APPROVED BUDGET COST | FUND SOURCE  |
|---------------|----------------|----------------------|--------------|
| 100-16-01-125 | Token & Awards | 110,500.00           | General Fund |

| STOCK NO. | UNIT | ITEM DESCRIPTION | QTY | UNIT<br>COST | TOTAL COST |
|-----------|------|------------------|-----|--------------|------------|
| 1         | pcs  | PIN              | 11  | 10,000.00    | 110,000.00 |
| 2         | pcs  | PLAQUE           | 1   | 500.00       | 500.00     |
|           |      |                  |     |              | -          |
|           |      |                  |     |              | -          |

|  | TOTAL | 110.500.00 |
|--|-------|------------|
|  | IOIAL | 110,300.00 |

| Deauline of Submission Technical & | March 15, 2016 not later than 12:00 o'clock noon              |
|------------------------------------|---|
| Financial Documents                | March 13, 2010 Hot later than 12.00 0 clock floor             |
| Opening of Bids                    | March 15, 2016 at 2:00 o'clock in the afternoon at Conference |
| Opening of Bius                    | room, Mayor's office, this municipality                       |

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines
Province of Davao del Norte
Municipality of Braulio E. Dujali
-oOo-

Date: March 4,2016

Invitation to Bid No. 16-03-051

#### **INVITATION TO APPLY FOR ELIGIBILITY AND TO BID**

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

### **1st Publication**

| PR NO.        | PARTICULARS              | APPROVED BUDGET COST | FUND SOURCE |
|---------------|--------------------------|----------------------|-------------|
| 300-16-01-019 | <b>Vulcanizing Tools</b> | 149,250.00           | Trust Fund  |

| STOCK NO. | UNIT | ITEM DESCRIPTION            | QTY | UNIT<br>COST | TOTAL COST |
|-----------|------|-----------------------------|-----|--------------|------------|
| 1         | unit | 1 HP Air Compressor         | 4   | 10,000.00    | 40,000.00  |
| 2         | UNIT | 1/2 HP Air Compressor       | 6   | 6,000.00     | 36,000.00  |
| 3         | UNIT | Electric Water pressure set | 2   | 5,500.00     | 11,000.00  |
| 4         | UNIT | Air Pressure Hose           | 150 | 30.00        | 4,500.00   |

| 5  | UNIT | Tire pressure clamp with piston | 12 | 1,600.00 | 19,200.00  |
|----|------|---------------------------------|----|----------|------------|
| 6  | roll | Vulcanizing gum                 | 15 | 400.00   | 6,000.00   |
| 7  | pcs  | Jimmy (Ligwat) Big & Small      | 40 | 385.00   | 15,400.00  |
| 8  | pcs  | Tire pressure guage             | 10 | 400.00   | 4,000.00   |
| 9  | pcs  | Tire wrench                     | 10 | 200.00   | 2,000.00   |
| 10 | pcs  | Adjustable wrench #24           | 10 | 150.00   | 1,500.00   |
| 11 | pcs  | Pliers                          | 10 | 95.00    | 950.00     |
| 12 | pcs  | Air Pump                        | 10 | 200.00   | 2,000.00   |
| 13 | pcs  | combination wrench              | 10 | 75.00    | 750.00     |
| 14 | pcs  | scissors                        | 10 | 75.00    | 750.00     |
| 15 | pcs  | Air Chuck                       | 10 | 170.00   | 1,700.00   |
| 16 | pcs  | Mallet                          | 10 | 350.00   | 3,500.00   |
|    |      | TOTAL                           |    |          | 149,250.00 |

| Financial Documents | March 15, 2016 not later than 12:00 o'clock noon              |
|---------------------|---|
| Opening of Bids     | March 15, 2016 at 2:00 o'clock in the afternoon at Conference |
| '                   | room, Mayor's office, this municipality                       |

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448

email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines
Province of Davao del Norte
Municipality of Braulio E. Dujali
-oOo-

Date: March 4,2016

Invitation to Bid No. 16-03-052

### INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

**1st Publication** 

| PR NO.        | PARTICULARS   | APPROVED BUDGET COST | FUND SOURCE |
|---------------|---------------|----------------------|-------------|
| 300-16-01-017 | Barbering Set | 149,250.00           | Trust Fund  |

| STOCK NO. | UNIT | ITEM DESCRIPTION                             | QTY | UNIT<br>COST | TOTAL COST |
|-----------|------|--|-----|--------------|------------|
| 1         | unit | Commercial Clipper (wahl) w/ plastic plastic | 15  | 6,304.00     | 94,560.00  |
| 2         | pcs  | Hair Cutting Scissor-8"                      | 15  | 500.00       | 7,500.00   |
| 3         | pcs  | Shaves                                       | 15  | 250.00       | 3,750.00   |
| 4         | pcs  | comb   | 15  | 20.00        | 300.00     |
| 5         | pcs  | Water sprayer                                | 15  | 40.00        | 600.00     |
| 6         | pcs  | soft hair brush                              | 15  | 150.00       | 2,250.00   |
| 7         | pcs  | barbers cape                                 | 15  | 200.00       | 3,000.00   |
| 8         | pcs  | thinning scissor                             | 15  | 350.00       | 5,250.00   |
| 9         | pcs  | face towel                                   | 15  | 30.00        | 450.00     |
| 10        | unit | barber chair                                 | 2   | 11,000.00    | 22,000.00  |
| 11        | unit | wall fan                                     | 2   | 1,000.00     | 2,000.00   |
| 12        | unit | mirrors                                      | 4   | 1,897.50     | 7,590.00   |
|           | _    | TOTAL  |     |              | 149,250.00 |

| Deaumie of Submission Technical & | March 15, 2016 not later than 12:00 o'clock noon              |
|-----------------------------------|---|
| Financial Documents               | Haich 13, 2010 Hot later than 12.00 o clock hoof              |
| Opening of Bids                   | March 15, 2016 at 2:00 o'clock in the afternoon at Conference |
| Opening of Bids                   | room, Mayor's office, this municipality                       |

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines
Province of Davao del Norte
Municipality of Braulio E. Dujali
-oOo-

Date: March 4,2016

Invitation to Bid No. 16-03-053

### **INVITATION TO APPLY FOR ELIGIBILITY AND TO BID**

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

### **1st Publication**

| PR NO.                             | PARTICULARS | APPROVED BUDGET COST | FUND SOURCE  |  |
|------------------------------------|-------------|----------------------|--------------|--|
| 100-16-01-061 Vehicle (Motorcycle) |             | 70,000.00            | General Fund |  |

| STOCK NO. | UNIT | ITEM DESCRIPTION                            | QTY | UNIT<br>COST | TOTAL COST |
|-----------|------|---|-----|--------------|------------|
| 1         | рс   | Motor Vehicle                               | 1   | 70,000.00    | 70,000.00  |
|           |      | Specs:                                      |     |              | -          |
|           |      | Engine and Transmission                     |     |              |            |
|           |      | Displacement :124.80 ccm (7.62 cubic inches |     |              |            |
|           |      | Engine Type: Single cylinder, four-stroke   |     |              |            |
|           |      | Power: 8.48 HP (6.2 kW) @ 8590 RPM          |     |              |            |
|           |      | Torque: 10.12Nm (1.0 kgf-m or 7.5 ft.lbs)   |     |              |            |
|           |      | Compression: 9.0:1                          |     |              |            |
|           |      | Bore x Stroke: 52.4 x 57.9mm (2.1           |     |              |            |
|           |      | Fuel system: Caburettor                     |     |              |            |
|           |      | Fuel control: Overhead Cams (OHC)           |     |              |            |
|           |      | Ignition: DC-CDI                            |     |              |            |
|           |      | Cooling system: Air                         |     |              |            |
|           |      | Gearbox: 4-speed                            |     |              |            |
|           |      | Transmission type, final drive: Chain       |     |              |            |
|           |      | Chassis, Suspension, brakes and wheels      |     |              |            |
|           |      | Front suspension: Telescopic fork           |     |              |            |
|           |      | Front wheel travel: 118mm (4.6 inches)      |     |              |            |
|           |      | Rear suspension: Swingarm                   |     |              |            |
|           |      | Rear wheel travel: 70mm (2.8 inches)        |     |              |            |
|           |      | Front tyre: 80/100-18                       |     |              |            |
|           |      | Rear tyre: 90/90-18                         |     |              |            |
|           |      | Front brakes: Expanding brake (drum brake)  |     |              |            |
|           |      | Rear brakes: Expanding brake (drum brake)   |     |              |            |
|           |      | Physical measures and capacities            |     |              |            |
|           |      | Dry weight: 103.0kg (227.1 pounds)          |     |              |            |
|           |      | Power/weight ratio: 0.0823 HP/kg            |     |              |            |
|           |      | Seat Hight: 795mm (31.3 inches) if          |     |              |            |
|           |      | Overall height: 1,056mm (41.6inches)        |     |              |            |
|           |      | Overall length: 2,050mm (80.7 inches)       |     |              | -          |
|           |      | Overall width: 751mm (29.6 inches)          |     |              | -          |
|           |      | Ground clearance: 156mm (6.1 inches)        |     |              | -          |

| Wheelbase: 1,310mm (51.6 inches)           |  | -         |
|--|--|-----------|
| Fuel capacity: 10.00 liters (2.64 gallons) |  | -         |
| Reserve fuel: 2.50 liters (0.66 gallons)   |  | -         |
| Capacity:                                  |  | -         |
| Oil capacity: 1.00 liters (0.07 quarts)    |  | -         |
| TOTAL                                      |  | 70,000.00 |

| Deaumie of Submission Technical & | March 15, 2016 not later than 12:00 o'clock noon              |
|-----------------------------------|---|
| Emancial Documents                | March 15, 2016 at 2:00 o'clock in the afternoon at Conference |
| (Opening of Rids                  | · · · · · · · · · · · · · · · · · · ·                         |
|                                   | room, Mayor's office, this municipality                       |

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

RAFAEL L. ALCONES BAC Chairperson